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Part One — Minimum Competence
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Answer (10 points)
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Part Two
7)
Find the area of R.
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8)  The region R is formed by the curves y=¢”*, y=14, x=0, and
x=2.

a)  Find the volume of the solid that results when R is revolved
around the x-axis using the Washer Method. Yes, you must evaluate this
integrall. : Y=k
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b)  Find the volume of the solid that results when R is revolved
around the line y =-2 using the Washer Method. Set up but do not

evaluate this integral. |, OUTEL RADIS
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9)  The region R is formed by the curves x =y’ and x = %/; in the

first quadrant. Use the Shell Method to find the volume of the solid that
results when R is revolved around the x-axis.
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10) Find the average value of y = xe

\3 =

* on the interval [0,2].
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11) Find the length of the arc of the curve defined by y = %xz —1 on

the interval [0,1] (
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14) Find the area of the region in the first quadrant formed by the

curve r =siné@ +cos @ and the coordinate axes on the interval [O,z} .
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